Required Tools:
- 1.5 Hex Driver
- 2.0 Hex Driver
- 2.5 Hex Driver

BH M3x12
C-3003-30-12

BH M3x12
C-3003-30-12

STEP2 / e N

FH M4x10
C-3002-40-10

STEP 3 / Set Screw M3x5 STEP 4 / STEPS /
C-3004-30-05"
BH M3x14
(N7 C-3003-30-14 C-00180-957 (set)
BHM3x10 57/ e 518
C-3003-30-10

C-00180-891

Be careful not o lose
the shims.

:
e

BH M3x14
C-3003-30-14

BH M3x10
C-3003-30-10

o www.world.corally.com

www.support.corally.com

TEAM —
° www.dealers.corally.com °



